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QUESTION 1

What does the term "short cycling" mean? 

A. The fire suppression system clean agents are running low and have not been recycled. 

B. Cool air from the CRAC bypasses the IT equipment and flows directly into the CRAC return air duct. 

C. The raised floor is obstructed with excess cables and cool air is not getting through the vented floor tiles. 

D. The UPS supplies less runtime than anticipated because of overall wear and tear on the internal batteries. 

Correct Answer: B 

 

QUESTION 2

A network-critical physical infrastructure (NCPI) Management strategy should incorporate what information at the rack
level to ensure reliable IT equipment operation? (Choose two.) 

A. Rack "U" space 

B. Network switches 

C. Individual branch circuits 

D. Rack access to equipment 

Correct Answer: CD 

 

QUESTION 3

What is the actual horizontal mounting hole spacing (center-to-center) based on the EIA- 310 standard for 482.6 mm (19
inch) racks? 

A. 450 mm (17.72 inches) 

B. 465 mm (18.31 inches) 

C. 482.6 mm (19 inches) 

D. 495.3 mm (19.5 inches) 

Correct Answer: B 

 

QUESTION 4

What is an indirect cost of downtime that is difficult to quantify? 

A. Legal fees 
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B. Lost revenues 

C. Idle employees 

D. Damaged brand perception 

Correct Answer: D 

 

QUESTION 5

During a power outage, a semi-conductor manufacturing plant is likely to exhibit which cost of downtime profile? 

A. Cost of downtime per hour remains the same. 

B. Cost of downtime per hour increases with time. 

C. Cost of downtime per hour decreases with time. 

D. Cost of downtime per hour is exponential with time. 

Correct Answer: C 
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